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Prepared by: Jo Lamont and Diane Fabiyanic, Taylors College

Solutions to Accounting Unit 4 practice exam 2008

Supplement to Compak, Issue. 4, October 2008

The following answers are suggested solutions only as teachers may have taught topics in different ways.

Question 1—Outdoor Adventures

1.1.1

General Journal

	Date
2008
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	July 31
	Prepaid sales revenue
	4000
	
	
	

	
	
Sales revenue
	
	4000
	
	

	
	
	
	
	
	

	
	Cost of sales
	2000
	
	
	

	
	 
Stock control
	
	2000
	
	

	
	
	
	
	
	

	
	Sales returns
	5000
	
	
	

	
	GST clearing
	500
	
	
	

	
	 
Debtors control—Angelina
	
	5500
	
	5500

	
	
	
	
	
	

	
	Stock control
	1800
	
	
	

	
	
Cost of sales
	
	1800
	
	

	
	
	
	
	
	

	
	Accrued interest revenue
	25
	
	
	

	
	
Interest revenue
	
	25
	
	


9 marks

1.1.2

	Qualitative characteristic  Relevance

	Explanation

· The information in the accounting reports should be useful for decision-making.

· Recording the sales of stock as prepaid, reminds the users that the business owes the customers the stock associated with these sales. The revenue has not yet been earned by the business as the goods have not been provided.

· If the goods are not provided then the business would have to return the cash received, as the customer would have a claim against Outdoor Adventures.



3 marks

1.1.3

	Item
	Increase/Decrease/No effect
	Amount $

	Assets
	Decrease
	2000

	Liabilities
	Decrease
	4000

	Owner’s Equity
	Increase
	4000–2000 = 2000


3 marks

1.1.4
	Outdoor Adventures

Extract of Profit and Loss Statement for the month ended 31 July 2008

	Revenue
	$
	$

	Sales
	49 000
	

	less Sales returns                        
	5 000
	

	 (1)
	
	44 000

	less Cost of goods sold
	
	

	Cost of sales
	
	20 200

	Gross profit
 (1)
	
	23 800

	less Stock write-down
	
	300

	Adjusted gross profit
(1)
	
	23 500


3 marks

1.2
Cash Receipts Journal

	Date

2008
	Details
	Rec. No.
	Bank
	Discount

Expense
	Debtors
	Cost of Sales
	Sales
	GST
	Sundry

	July 4
	Accrued interest revenue
	144
	50
	
	
	
	
	
	25

	4
	Interest revenue
	
	
	
	
	
	
	
	25


2 marks

1.3

General Journal

	Date
2008
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	July 31
	Display equipment
	3950
	
	
	

	
	Prepaid insurance expense
	1200
	
	
	

	
	GST clearing
	515
	
	
	

	
	Sundry creditor—Dave’s Displays
	
	5665
	
	


4 marks

1.4.1

Stock Card: Women’s Skis

	Date

2008
	Details
	IN
	OUT
	BALANCE

	
	
	Qty
	Unit Cost
	Total Cost
	Qty
	Unit Cost
	Total Cost
	Qty
	Unit Cost
	Total Cost

	Aug. 4
	Inv. No. P576BV3


	10
	100
	1000
	
	
	
	10
	100
	1000

	5
	Credit Note 
No. 80


	
	
	
	1
	100
	100
	9
	100
	900

	13
	Invoice No. 266


	
	
	
	4
	100
	400
	5
	100
	500

	19
	Credit Note 
No. 13


	1
	100
	100
	
	
	
	6
	100
	600


4 marks

1.4.2

	Reasons (one required)

· Customers may have requested this type of stock.

· It may be complementary to another type of stock.
· Selling more may lead to an increase in sales revenue.


1 mark

1.4.3

General Journal

	Date
2008
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Aug. 5
	Creditors control— Swedish Skis
	110
	
	110
	

	
	Stock control
	
	100
	
	

	
	GST clearing
	
	10
	
	


3 marks

1.4.4

	Item
	Overstated/Understated/No effect
	Amount $

	Assets
	Overstated
	100

	Liabilities
	Overstated
	100 (110–10)

	Owner’s Equity
	No effect
	0


3 marks

1.5.1

	Cost price
Net realisable value

$200 x 5 = $1000
$150 –15 = $135 x 5 =$675

	
	$  675


1 mark

1.5.2

General Journal

	Date
2008
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Aug. 31
	Stock write-down
	325
	
	
	

	
	
Stock control
	
	325
	
	

	
	Revaluation of men’s skis using LC/NRV (Memo No. 9)
	
	
	
	


3 marks

1.6.1

	Reason (one required)

It is important for the business to keep the creditors happy, and to have a positive business relationship with them. This ensures that stock can be ordered and delivered whenever necessary.


1 mark

1.6.2

	Method (one required)
Outdoor Adventures could reduce the level and value of stock on hand of stock that is not selling quickly.

(Note: The answer cannot use sales as a method.)


1 mark

1.6.3

	Explanation 

Stock turnover: If the new line of stock sells well, it can improve stock turnover. However, if it does not sell and remains on hand the stock turnover will decrease. 

Credit turnover: The purchase of extra stock would increase the credit turnover as purchases increase if the payment rate remains the same.


2 marks

1.7

	Explanation
· This move may increase the exposure of the business to new and more customers because Melbourne Central is a popular place to shop.

· Increased sales should increase revenue.

· Fixed costs will be spread over more sales, therefore reducing costs per unit. 


2 marks

Total: 45 marks

Question 2—Best Foot Forward

2.1.1

	Supplier’s price
 $50

Customs duty  
_10

 60

	
	$ 60 per unit


1 mark

2.1.2

	Justification   The insurance of stock is a cost of getting the stock ready for sale but is not part of the cost of the men’s boots as it relates to all types of stock in the shop and cannot be apportioned to one particular type of shoe and so would be treated as a period cost.


1 mark

2.2.1

General Journal

	Date
2008
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Jul. 31
	Disposal of vehicle
	32 000
	
	
	

	
	
Vehicle
	
	32 000
	
	

	
	
	
	
	
	

	
	Accumulated depreciation of vehicle
	13 500
	
	
	

	
	
Disposal of vehicle
	
	13 500
	
	

	
	
	
	
	
	

	
	Sundry creditor—Cars Plus
	12 000
	
	
	

	
	
Disposal of vehicle
	
	12 000
	
	

	
	
	
	
	
	

	
	Loss on disposal of vehicle
	6 500
	
	
	

	
	
Disposal of vehicle
	
	6 500
	
	


8 marks

2.2.2

	Date
2008
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Jul. 31
	Vehicle
	45 000
	
	
	

	
	GST clearing
	4 500
	
	
	

	
	Sundry creditor—Cars Plus 
	
	49 500
	
	

	
	Credit purchase of vehicle—Inv. No. 983
	
	
	
	


2 marks

2.2.3

	Reason (one required)
The business may have incorrectly estimated the residual value of the vehicle or the economic life of the vehicle, that is, the length of time the vehicle would be used by the business to generate revenue.


1 mark

2.2.4

	Explanation   Sundry Creditors are creditors from which the business buys its non-current assets on credit to use within the business, whereas the Creditors Control summarises all transactions relating to the creditors from which the business buys its stock. 


2 marks

2.2.5

	Impact   Increasing the value of assets the business owns may not increase net profit by the same amount. If so, the purchase will decrease the return on assets.


2 marks

2.3.1

	Explanation   Liquidity is defined as the ability of the business to meet its short-term debts as they fall due with the current assets that the business owns.


1 mark

2.3.2

	Justification   The Quick Asset Ratio does not take into account the current assets of the business that are not very liquid. Some current assets, such as stock and prepayments, can be difficult to turn into cash at short notice. It also does not include the overdraft, which does not have minimum payments.


2 marks

2.3.3

	Strategies (two required)
· Sally could make a capital contribution of cash. This would increase the level of cash she has in the business. 

· Sally could borrow from the bank in the form of a long-term loan. This would increase the level of cash she has in the business but would only increase her current liabilities by the amount that is due within 12 months.


2 marks

 2.4.1

	Reasons (one required)
· Due to increased spending from stocktaking sales in early July.

· The range of shoes on hand might not be fashionable, which would limit shoe sales revenue.


1 mark
2.4.2

	Explanation   The Gross Profit Ratio reflects the relationship between the cost price and selling price of the stock. If the mark-up is unchanged from July to August then the Gross Profit Ratio will not change despite the decrease in sales.


2 marks

2.4.3

	Reasons (two required)
· Other operating expenses such as advertising, cleaning, etc. may have increased during August.

· There may have been an increase in the level of stock loss or stock write-down in August.
· Some expenses are fixed, for example rent, which means a decrease in sales is not matched by a decrease in the expense.


2 marks

2.4.4

	Suggestions (two required)

· Increase the mark-up on the shoes sold in the shop, thereby increasing the Gross Profit.

· Increase the number of units sold.

· Try to decrease expenses such as operating expenses, stock loss or stock write-down.


2 marks

2.5.1
	Debtors control

	Date

2009
	Cross reference
	$
	Date

2009
	Cross reference
	$

	Sep. 1
	Balance
	49 000
	Sep. 28
	Bank
	43 100

	28
	Sales
	22 000
	
	Discount expense
	1 000

	
	
	
	
	Bad debts
	4 900

	
	
	
	
	Balance
	22 000

	
	
	71 000
	
	
	71 000

	Oct. 1
	Balance
	22 000
	
	
	


6 marks

2.5.2

	Methods (one required)
To try and ensure debtors pay promptly, thus reducing the risk that that they will not pay, for example:

· make sure that invoices are sent promptly 

· have a credit policy that carries out a check on potential debtors

· reduce the level of credit sales.


1 mark

2.5.3

	Best Foot Forward

Budgeted Cash Flow Statement of Operating Activities for September 2008

	Operating Activities
	$
	$

	Cash sales
	33 000
	

	Receipts from debtors
	43 100
	76 100

	Wages
	(1 400)
	

	Interest
	(200)
	

	Payments to creditors
	(40 000)
	

	Advertising
	(320)
	

	Cleaning
	(175)
	

	Electricity
	(220)
	(42 315)

	
	
	

	Net Cash Flows from Operating Activities
	
	33 785


7 marks

2.5.4

	Advantages (two required)
· Allows the business to plan goals and targets for spending and receipts.
· The business is able to control its receipts of cash and spending of cash and take remedial action if necessary.


2 marks

Total: 45 marks
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